REMEDIES OUTLINE
A. INTRODUCTION TO REMEDIES

a. Why should we give damages to plaintiffs?

i. Economic theory – if we do not give damages, P will spend resources protecting property rather than spending those same resources using the property.  The problem here is over-investing for little return; damages will incentivize people to not over-invest

ii. Corrective Justice theory – this is a theory of right v. wrong; if someone steals your property, you have the right to get it back

b. The two theories could produce very different results

i. An economic efficiency argument may award less damages than a morality argument

c. BEFORE TAKING A CASE, A PLAINTIFF’S LAWYER SHOULD CONSIDER WHAT REMEDIES ARE AVAILABLE AND THEIR LIKELIHOOD OF COLLECTING
B. DAMAGES
a. Compensatory Damages

i. What are they?

1. ideally, the P wants specific relief – this would be the return of the specific good taken, or the value lost

2. when specific relief is unavailable, substitutionary damages provide the P with money to compensate for the value lost because of the D’s wrong

ii. The standard for compensatory damages

1. rightful position standard – award damages to P such that P is put in position he would have been in “but for” D’s harm (Hatahley)
2. this amount can differ for contract and tort cases

a. breach of contract cases – must account for the gains plaintiff failed to realize because of D’s breach

i. this will be expectancy damages – i.e. if D agrees to sell art to P for $25K and FMV is $35K and P pays the $25K in advance, and then D breaches and sell the art to someone else for $35K, P is harmed for $35K:

1. point A = -$25K (due to advanced payment)

2. point B = 0 (this is status quo)

3. point C = +$10K b/c the immediate gain to the plaintiff was the difference b/w the FMV and the purchase price

4. so P would receive $35K – the first $25K makes up for the A – B, and the next $10K makes up for the B – C 

ii. ***if K is for computer valued at $1M, and P pays $1M but receives computer valued at $500k, then P’s position A is -$500k because P received value of $500k in the computer.  Position A is NOT -$1M

b. tort cases –only want to put P in the position he would have been in “but for” the D’s harm; there is no gain to realize in tort cases
i. this will be reliance damages – i.e. if D burns down P’s home; and home was accurately valued at $100K; the compensatory damages will be $100K

1. point A = -100K

2. point B = 0

3. there is no point C b/c there’s no gain to realize.  

4. so P would receive 100K

iii. What are the issues?

1. valuation – when substituting money as the award, how does the court know how to value the loss?

2. potential problems:

a. when courts have to estimate the value of a loss, there is a risk of error

i. over-compensate – this creates point B+ because the P has received more than the loss since the court over estimated the value of the loss

ii. under-compensate – this creates point B- because the P has received less than the loss since the court under estimated the value of the loss; P would need more money to make him whole

iv. Valuation

1. There are different methods of valuation depending on whether a market exists 
2. Valuation when there is a market

a. GR: when a market exists for the loss, use the FMV of the good at the time of the loss to quantify the loss

i. Hatahley – US took the Navajo’s animals and traded them for glue; Navajo sues for value of the animals lost; there were several damage and valuation issues:

1. value of the animals:
a. the trial court valued the horses from the perspective of the P’s and added in sentimental value

b. the appellate court took into account the substitutionary cost of a new animal, and used FMV of a new animal

2. emotional pain and suffering

a. trial court grouped the tribe together and spread out damages over everyone

b. appellate court determined that you need an individualized determination of injury

3. diminution in the herd

a. appellate court focused on measuring damages with reasonable certainty

ii. Takeaways from Hatahley
1. use objective FMV when it is available, not sentimental/personal value

2. must show individualized injury
3. must measure damages with reasonable certainty

b. FMV at time of loss for consumer goods is generally low – this is because of the lemons problem

i. So unfortunately for the victim, she only gets lower FMV at time of loss b/c she takes the chance that when she uses the money to buy a new good, she may buy a lemon

ii. This is why repair and replacement is a better valuation for the plaintiff

c. with issues of sentimental value, the objective FMV does not actually put P back in rightful position, but the courts say it does

i. i.e. if pet is subjectively worth $10,000, but FMV is $500, under Hatahley P is awarded compensatory damages of $500.  This does not put P back in rightful position, but the court will say it does.

d. GR: When using FMV, do so in the cheapest and simplest way 

i. 50 Acres – US seized a landfill for government use, and P found a substitute landfill; the substitute was more advanced and cost $723K; the FMV of the old landfill was $250K.  the valuation issue is whether to pay the FMV or the cost of replacement?

1. in this case, the court discounted the new landfill for the longer time it would last and found that the discounted value and the FMV were almost the same

2. so the court applied the FMV because the similarity in the numbers showed that the market works, and there is less risk of error in using FMV of the old landfill than in estimating the discounted value of the new landfill

3. takeaway: apply the FMV where the market works even if the P has acquired a substitute because using the FMV creates the least amount of work and the least amount of risk.  If the market works, then the discounting method of the substitute facility derives the same result as the FMV

ii. ***EXAM - if arguing for P, argue that the market does not work, and that repair and replacement is the better method for valuation.***

iii. Jacob & Young v. Kent – contract to build house required using Reading piping, but the contractor used Cohoes piping; the two pipings are identical, and there is no aesthetic value of using either one; 
1. options for valuation:
a. repair and replacement - very expensive
b. difference in FMV - $0
2. court awarded the difference in FMV; in this case, it seemed like homeowner was trying to get a windfall by capitalizing on an insignificant defect
iv. hypo: contractor sells house to plaintiff with no roof; FMV of house without a roof is 30K; FMV with a roof is 100K; cost of roof is 5K:
1. options for valuation:
a. difference in FMV - $70K
b. repair and replacement - $5K
2. court will award the cost of repair because it’s cheaper
e. market may not be working with used goods (use repair and replacement)
i. King fisher – P bought a used barge for $30K; D’s tugboat sank the barge; cost of replacement was $230K because there were only 6 of these types of barges left in the world; court awarded the cost of repair, instead of FMV
ii. there is an issue of the lemons problem where buyers are afraid to pay full price for a used good because they are afraid that the used good is a lemon – in this case, sellers may not be fully compensated or put in the rightful position
3. Valuation when there is no market

a. GR: try to estimate the value in the future, and take present value, but it is difficult
i. Trinity Church – really old church was damaged when contractor negligently began excavating land that caused cracks in the church; the church was essentially fine, but testimony revealed that its useful life was reduced by 50 years.  
1. big issue is that there is no market for churches – so it’s almost impossible to determine FMV of a cracked church
2. court tried to predict the cost of repair/replacement when the church would need it, and then took present value of that number – court can invest this amount and have enough money in x years to repair the church
3. obvious problems:
a. uncertainty about repair cost in the future
b. too much speculation
c. consider: does this live up to the Hatahley standard of reasonable certainty?
4. Valuation with a fluctuating market

a. Crops and plants
i. Decatur – D negligently sprayed P’s crops with insecticide, and P lost a number of crops; P usually harvests the crops and holds for a year before selling on the market b/c the price usually goes up
1. P wants to value the crops at the later date of sale b/c the price was higher
2. court says must value the crops at the date of harvest b/c P is speculating that the price would go up in the following year
a. if he wants, P can buy the amount of crops that were destroyed in the current year, and then sell them the next year at the higher price
v. Reliance v. Expectancy damages
1. Reliance damages

a. In tort cases, reliance damages will put P back in the rightful position before the injury occurred
b. The formula is : B – (-A) = reliance damages
c. Hypo: patient wanted nose job, but received a permanently disfigured nose instead.  
  A ------------------------------ B ----------------------- C
-5K (with new nose)            0 (before nose job)        expected nose




Giving
 P 5K will bring her from A to B.  But it will not put her in the rightful position because she expected to be at point C with the promised good nose.  So the 5K does not bring her to rightful position because it doesn’t include expectancy damages.

d. Point A = FMV at time of loss; alternate is repair and replacement at today’s rate for comparable good

2. Expectancy damages

a. Usually in contract cases, expectancy damages put plaintiff in the rightful position had the contract been performed
b. Process:
i. First, is it a breach of K?
ii. Second, if yes, is the breach of K limited to reliance damages? (defect in K claim [reliance], public policy, expectancy is hard to measure)
iii. Third, if yes, award reliance only; if no, then award expectancy
iv. Fourth, check for consequential damages

c. The formula is: C – (-A) = expectancy damages
d. Hypo: patient wanted nose job, but received a permanently disfigured nose instead.  
  A ------------------------------ B ----------------------- C
-5K (with new nose)            0 (before nose job)       5K ( expected nose)




Giving P 10K will bring her from A to C, and put her in the promised position of receiving the nose she expected to receive.  The 10K would put her back in the rightful position.  This applies if she sues the surgeon for breach of K.  but in this case, patient may only be able to recover for reliance damages under public policy.
3. How to choose b/w  reliance or expectancy
a. Only find a point C when the defendant promised something

b. Lost volume sellers can recover expectancy damages on breach of K even if they resold the item because they still lost one sale (Neri – Ps bought a boat from Ds, Retail Marine and paid a deposit on the boat; wife got cancer so Ps breached and wanted the deposit back; D resold the boat to someone else but kept the deposit; A = 2,579 (expected profit), B=0, C=-679 (costs of maintenance); court awarded A – (-C) or $3,253 to Retail Marine, and ordered the balance of the deposit returned.)  

i. We require the lost volume seller to return the balance because to allow them to keep it would unjustly enrich the seller

c. Tortfeasors are worse than a breacher of contract, but tortfeasors pay less.  There could be benefits to suing in tort.
i. Chatlos – P bought computer from D for $46,000, but as warranted the trial court determined the computer was worth $200K.  In fact, the computer as delivered was worth $6K.  P sued for breach of warranty (which is a contract claim); A: -40,000, B: 0, C: 161K; so expectancy damages = 161K – (-40K) = 201K.  

ii. Smith – P bought 4000 shares of stock from D for 1.50/share that D said were worth $10/share, but the shares were worthless; P sues to recover at the $10 per share amount, but sues in tort; A: -6000, B: 0, C: 34000 (believing P would get 8.50 per share); since this is tort, court only awarded reliance damages of 6K

iii. Chatlos and Smith are the same cases, but Chatlos got more money b/c he sued in contract

iv. Advantages to suing in tort:

1. SOL may be longer

2. able to sue for malpractice

3. possibility of punitive damages (although punitive is available in K under limited circumstances)
d. sometimes, breach of K will be limited to reliance damages

i. non-breaching party has defect with the substantive K claim (Ricketts – Grandfather gave granddaughter promissory note for 2K plus 6% interest; he died before paying it and granddaughter sued estate to recover; estate claimed court should limit recovery to reliance damages because there was no consideration; court held that expectancy damages would be awarded b/c the reliance substituted for consideration) 

1. courts can limit “as justice requires” – 
a. R2d90, comment d – courts have discretion to limit breach of K damages to reliance damages “as justice requires” when reliance is substituted for consideration

b. R2d139 – courts must limit damages “as justice requires” when reliance is substituted for a writing in SoF
ii. public policy may limit breach of K to reliance damages (hypo: doctor screws up nose job for his patient, but promised her a better nose; patient sues for malpractice and breach of K; court finds for doctor on malpractice and for patient on breach of K; court awards reliance damages for the breach of K because doctors can’t reasonably be expected to promise results in a field with so many uncertainties)

iii. expectancy damages are too uncertain (Baskin Robbins; E&E p.104 – buyer of factor and BR entered into K to negotiate in good faith; buyer made clear that a side purchase agreement was important to the deal; ultimately no agreement was reached, buyer backed out of the purchase and sued BR for breach of K; court held that expectancy damages were too uncertain b/c it’s unclear what the terms of the K would be; only reliance damages were allowed)

e. realistically, reliance damages may not put P back to rightful position because of lost attorney fees, inability to recover prejudgment interest, and use of FMV rather than subjective valuation
4. efficient breach – an economist’s argument that, if it is efficient to do so, a party should breach a K
a. the party would breach an existing K for a different K that promised more money
b. the breaching party will pay expectancy damages to the non-breaching party
c. so the new K must produce profit that exceeds the expectancy damages for the first K
b. Consequential Damages
i. What are consequential damages?

1. these are damages that are incurred as a result of the breach or the tort.  

2. think of these damages as outside of the terms of the K – they are an indirect result (i.e. one step removed) from the tort or the breach of K

3. important question: if the damage was incurred or money was spent because of the breach, then they are consequential and recoverable.  But if the damage was incurred or the money was spent regardless of the breach/tort, then it is not consequential and not recoverable.

ii. Consequential damages in tort

1. GR: P can recover consequential damages in tort whether or not the damages were foreseeable, but the damages must have been caused by the tort
a. foreseeability is not required – think of the Vosburg case and the egg-shell plaintiff; D is liable for damages even though it’s not foreseeable that P would be injured

2. however, some courts apply the K foreseeability concept to tort cases and say the person who could most cheaply avoid the harm should do so – if that person is the P, then no consequential damages are allowed – this is a case about limiting consequential damages (Evra – Evra rented a charter from Brazilian company when rates were low, but rates have jumped up since then; brazilian company wanted to get out of the K to raise rates; Evra was late on a payment because the bank lost the wire transfer; Brazilian company cancelled the contract, and then made a new contract with Evra at higher rates; Evra sued bank to recover consequential damages of the difference between the two contract rates; this was a tort case b/c there was no K b/w Evra and the bank; court analogized to foreseeability from consequential damages in K and held that it would be more costly for the bank to try to avoid this loss because they would have to learn about every customer’s industry and try to estimate how to improve their process, but Evra just needed to send a confirmation note to see if the wire transfer posted; court also held that general foreseeability is not enough to warrant consequential damages)

iii. Consequential damages in contract 
1. GR: no consequential damages are allowed unless non-breaching party can prove the damages were reasonably foreseeable; EXCEPT where the breach is failure to pay money, no consequential damages are allowed, and only expectancy damages + interest is recoverable; HOWEVER, in bad faith acts to not make payment on insurance claims, the full range of consequential damages is allowed
2. courts need to award consequential damages in breach of contract to put non-breaching party in rightful position (Buck – P leased land from D for 5 years, but contract said that if D sold the land before the 5 years, D would have to pay P damages; D sold the land and P had to rent new land, hire help to watch the cattle when he looked for new land; in meantime, 15 cattle wandered off; AC awarded consequential damages to cover the cost of hiring ppl to watch the cattle and the value of the lost cattle; the higher rent on the land [$50] was considered a direct result of the breach)
3. Exception: when party breaches K by failing to pay money, the non-breaching party can recover expectancy damages + interest on the expectancy damages at standard rate of interest (Meinrath – D breached contract with P; as a result of breach, P could not use the money to enhance other businesses P owned; P told D that P needed the money to support his other businesses; court held that the damages were consequential but limited to standard rate of interest)
4. Exception to exception: where insurance company fails to make payment in bad faith, plaintiff is entitled to full consequential damages (including emotional distress)
iv. the breaching party can limit consequential damages and damages in general
1. contract - a party must add a “no consequential damages” provision to their contract to limit the recovery of consequential damages (Kearny – P and D had contract to buy MM-180; the breach of K was a breach of warranty; the K specified no consequential damages would be paid and recovery limited to repair/replacement or return/refund; court upheld the consequential damage exclusion b/c it is applicable when the other remedies fail)
2. contract - liquidated damages – 
a. this is a damage provision stated in the contract that stipulates the amount of damages the breaching party will pay the non-breaching party – this provision will override the default rules if it is upheld
b. this provision will replace all damages and provides certainty when damages are difficult to measure
c. There is a R2d Contracts test to prove it is a liquidated damage provision

i. stated damages in the provision bear reasonable relationship to actual or anticipated loss; AND

ii. actual damages are difficult to prove
d. the parties will litigate over whether the liquidated damage provision is an unenforceable penalty or an enforceable liquidated damage provision

e. some courts will apply public policy in order to enforce a penalty by calling it a liquidated damage provision (Ashcraft – lawyer was fired from law firm for stealing clients and sabotaging firm’s database; employment contract had liquidated damage provision that amounted to $400,000 in this case; court held this was an enforceable liquidated damage provision, but Hasen thinks there is no reasonable relationship b/w the harm to the firm and the $400,000 and the court applied public policy; the public policy is that the D is a bad guy b/c he tried to harm the firm so even if this is a penalty it’s ok to enforce; court may also be concerned about the profession’s reputation)
f. if the test is not satisfied, then the provision is an unenforceable penalty, it is removed from the contract, and the non-breaching party can recover expectation damages under default contract law 
g. this test is applied even if the parties bargained for an exorbitantly high liquidated damage provision in order to get a higher contract price – the meeting of the minds is irrelevant and the test will still be applied
3. tort & contract - mitigation – non-breaching party must take reasonable steps to mitigate the damages once they have notice of the breach (Rockingham County – P and D had contract to build a bridge; D backed out of the K; once P knew that D was backing out, P continued to build the bridge and tried to recover the full contract price; court held that P needed to mitigate damages by stopping the building of the bridge once they knew that D was backing out)
a. mitigating step must be substantially similar to the original contract (Parker v. 20th Century – Fox offered a movie to an actress but then backed out of the deal; they offered another movie to the actress but the movie was a different genre, different set, and had no approval rights over director; actress refused the offer; court held actress did not fail to mitigate because the mitigating offer was not substantially similar to the original deal)

b. if you don’t take the mitigating step, the court treats you as though you did and you only recover damages up to the point of the mitigating step
c. it is in P’s favor to take the mitigating step b/c their net profit after recover will be higher 
4. tort - economic harm rule – no economic damages for third-party recovery are recoverable in absence of physical damage to person or property, but where the only damages are economic damages, then this rule does not apply 
a. public policy may allow or prohibit recovery despite the rule (Pruitt – bait shop was harmed by chemical factory pumping pollutants into the air which hurt the sea life; there was no physical impact here but court awarded damages under public policy of deterrence)

b. what does this mean?

i. Hypo: traffic accident with 10 cars.  Car2 hits car1; and car3 hits car 2; no other cars suffer damage; everyone agrees car is liable

1. car1/car3 – can recover for property damage, and economic harm (lost wages for being late to work) can be attached to the property damage; 

2. car4-car10 – can’t recover for lost wages even though they were also late to work because they didn’t suffer any personal or property damage

ii. hypo: accountant screws up and client pays 10k more in tax

1. accountant can’t use economic harm rule to argue that b/c no physical/property damage, no economic recovery allowed – this would create immunity for accountants

2. so client can recover the $10k

c. Punitive Damages

i. These are damages that are attached to another award in order to punish and deter general or specific bad conduct
ii. Requirements:

1. compensatory or nominal damages awarded; sometimes an injunction will satisfy this

2. punitive damages must be appropriate

iii. Main issues:

1. how bad does the conduct have to be?

2. how do courts set the amount of punitive damages?

3. when can punitive damages be awarded in contract actions?

iv. How bad does conduct have to be?

1. courts require clear and convincing evidence of recklessness, oppression, fraud, or malice, but less than intent to harm

a. Ford pinto case – Ford pinto exploded on the road and plaintiff was injured and sued for punitive damages

i. Court held that Ford’s conduct was bad enough to justify punitive damages

1. valued corporate profits over human life – Ford knew about some of the defects of their design and that it did not meet regulatory standards but chose to design the Pinto a certain way in order to save money

2. negligence will not be enough to justify punitive damages – Ford’s conduct was more than negligent because they knew about the lack of safety in their design and the potential consequences

b. intentional torts may not be enough to justify punitive damages – i.e. trespassing onto someone’s land to cut their trees is intentional but does not have requisite level of intent
c. Exxon case – Exxon allowed a captain to operate a huge boat knowing the captain had mental problems and was drunk; court awarded punitive damages; ratio was ~4:1
2. how do courts set the amount of punitive damages?

a. CA uses 4 factors to determine appropriateness of award 
i. Degree of reprehensibility

ii. Wealth of D

iii. Ratio of punitive to compensatory

iv. Deterrent effect

b. Constitutional DP limits on punitive damages
i. Degree of reprehensibility

1. 3rd party conduct can be introduced to prove reprehensibility; requirements:

a. In-state conduct only

b. d’s conduct to 3rd party must have sufficient nexus [be sufficiently similar] to D’s conduct against P; this is a very stringent requirement (State Farm – “evidence of other acts does not have to be identical to have relevance, but Utah SC erred in allowing evidence that had nothing to do with a 3rd party claim)

i. big point: State Farm (USSC opinion) excluded virtually all of the 3rd party conduct as irrelevant – the court required specific in-state examples and rejected the argument that a nationwide policy also applied in Utah – this is a very tight definition
c. only use 3rd party conduct to determine reprehensibility of D’s conduct, and not to punish D for wrong caused to non-parties – so don’t use reprehensibility to set the amount of punitive damages (Phillip Morris)

ii. Wealth of D

1. takeaway: can’t use wealth of D to justify an award of punitive damages that would exceed 9.9999:1.  so the rule is the ratio must be <10:1.  (State Farm)

2. after State Farm, wealth of D has a much less significant role b/c the main factors are the ratio and reprehensibility of conduct.  Wealth may play a role when reprehensibility is high and compensatory damages are low

iii. Ratio of punitive to actual compensatory and potential compensatory (BMW – if the ratio is low, then uphold punitive dmgs; but if high then lower the punitive damages)

1. **State Farm** – max ratio is “single digit multiplier” - this was a breach of K case where the insured sued the insurance company for failing to settle a claim against the insured when it was determined that the insured was at fault; court held that the max punitive damages ratio can be 9.9999:1

2. State Farm – where compensatory damages are very high, a 1:1 ratio may be justified

iv. Sanctions for comparable conduct (BMW – use comparable punitive awards to decrease the punitive damage award)
3. punitive damages in contract cases

a. GR: no punitive damages in K cases, unless the breach of K is a tort.  Then punitive damages can be awarded
b. When is a breach of K a tort?

i. Special relationship b/w contracting parties

1. do not need to be fiduciaries, but the D must owe some special obligation to the P

2. court has rejected bad faith denial of existence of K as a tort (Freeman & Mills – Belcher hires lawyers, and lawyers hire accounts, and accountants want to be paid by their client Belcher; Belcher denies the existence of the K in order to avoid paying; P claims the tort is bad faith denial of existence of K [Seaman]; court held that bad faith denial of K is no longer a valid tort claim b/c it has drawn too much criticism about distinguishing b/w the tort claim and the K claim; ultimately, no punitive damages were awarded b/c P could not find a tort)

ii. breach of K causes physical injury or property damage (economic harm rule)
1. i.e. contractor arrives on-site drunk and damages some of P’s property

iii. negligence in rendering professional services (i.e. accountant)
iv. J. Mosk concur – 3 other potential categories

1. one contracting party uses tortious means to coerce or deceive the other contracting party out of its K rights

2. consequences of the breach of K are especially injurious to the non-breaching party, and the breaching party intentionally breaches (i.e. opportunistic breach)

d. Right to a jury trial


i. Federal side:

1. 7A – P has a right to a jury trial in matters where the amount in controversy > $20

2. GR: 2 step process

a. compare the claim at issue to a CL claim in 1791

b. is remedy sought legal or equitable?
3. If the comparable CL claim in 1791 got a jury, then this claim gets a jury

4. If the remedy sought is legal, you get a jury; if equitable you don’t get a jury

ii. On the state side:

1. CA grants a jury trial in the same way as the federal side

2. GR: 2 step process

a. compare the claim at issue to a CL claim in 1850

b. is remedy sought legal or equitable?

iii. When statutes give judge the power to decide if jury can be used

1. Hung – P shareholders sue attorney for civil conspiracy and want damages; CA statute says that they must prove they have reasonable probability of success before getting jury trial and the judge must determine if there reasonable probability of success [judge has gate-keeper power]; court held that the statute was constitutional because the judge’s review of probability of success was similar to a summary judgment motion

a. Takeaway: if the judge is given gate-keeper power, ask whether the judge is being asked to weigh evidence.  If the judge must weigh evidence, then statute is unconstitutional because weighing evidence is a jury function.
C. INJUNCTIONS

a. What is it?  An injunction is a court order, enforceable through contempt power, directing a defendant to do or refrain from doing something

i. It is considered a coercive remedy because they are backed by power of contempt and they coerce the defendant into doing something or not do something

b. When is it appropriate?  Injunction relief is appropriate when trying to: 

i. Prevent future harm (preventive injunction); OR
ii. Prevent future bad effect of past harm (reparative injunction)

iii. It is equitable relief when there is no adequate remedy at law (i.e. damages are inadequate)

iv. Injunctions are intended to preserve the status quo
c. There are different types of injunctions: 

i. Mandatory v. prohibitive

1. mandatory injunction require a defendant to do something

2. prohibitive injunction stop a defendant from doing something

ii. reparative v. preventive

d. if you need immediate relief, get a preliminary injunction or TRO

i. preliminary injunction

1. 4-element test: (Coliseum v. NFL)

a. Likelihood of success on the merits

b. Irreparable injury

c. Balance of hardships – hardship to P without the injunction > hardship to D with the injunction
d. Public interest

2. how to satisfy this test: Coliseum v. NFL (9th circuit) gave two ways: 

a. prove elements 1 and 2 on sliding scale; or

b. prove element 3

3. .what is irreparable injury?

a. ***this irreparable injury is different than the injury for permanent injunctions; this injury must occur within the time the PI is issued and the trial on the merits***

b. Monetary losses are not irreparable (NFL – Raiders wanted to come to LA; NFL was trying to use s.4.3 of constitution to stop the move; Coliseum argued that lost revenues, lost good will, and delay on renovations to the coliseum were irreparable; court held these were not irreparable because they could be remedied with damages)
c. Fear of personal safety is irreparable (Lakeshore Hills – D caged a bear in residential complex and P asked for mandatory reparative(?) injunction forcing D to remove the bear; court held that P’s fear of being injured or killed is irreparable b/c it can’t be remedied with damages)

d. A PI will generally preserve the status quo by preventing the harm from occurring (O Centro – court will grant a PI that changes the status quo only when granting a PI that does not change the status quo would cause severe irreparable injury)

i. Lakeshore Hills changes the status quo because it removes the bear from the property, but the status quo would be to leave the bear caged up on the property

ii. this is an exception – usually injunctions will maintain the status quo

e. Hasen thinks that if a D can’t pay a money judgment (i.e. bankrupt), then this is irreparable

4. Preliminary injunctions require an injunction bond to be posted by the plaintiff in case the injunction was incorrectly issued
a. The bond must be in an amount “the court deems proper” – this gives leeway for both plaintiff and defendant to argue over the amount of the bond in order to get an increase or decrease in the amount
b. The bond is considered a compensatory remedy

c. D’s recovery is limited to the lesser of the amount of the bond or the proven damages (Coyne-Delaney – this was the case about the plumbing project in the prison system; court set bond at $5K; court held that D’s recovery was limited to the $5K as long as D could prove that much in damages)

d. Examples

i. Example 1: bond > proven damages

1. Bond = 5K; Proven damages = 2K

2. Recovery is 2K

ii. Example 1: bond < proven damages

1. Bond = 5K; Proven damages = 7K

2. Recovery is 5K

e. If D thinks the bond amount is too low, he can file an interlocutory appeal to get the amount changed
f. P can request that court find that the “proper amount” is 0 – this will effectively bypass the bond requirement

e. If very very immediate relief is needed, file to get a temporary restraining order (TRO)
i. FRCP 65 – a TRO will enjoin the D for 10 days until a PI hearing or trial on the merits 

ii. if not giving notice to the D, must prove:

1. irreparable injury

2. must certify why notice could not be given with reasonable effort

iii. what is irreparable injury

1. monetary losses are NOT irreparable (Sampson – government employee was fired; employee wants TRO and claims lost wages and embarrassment are irreparable; court holds they are not irreparable b/c they can be remedied with damages)
iv. must certify why notice could not be given
1. if notice of the hearing can reasonably be given, then it needs to be given (Princess Anne – white supremacist group was holding a rally; Ps got a TRO against their rally; TRO was rejected on appeal because this was a 1A case (i.e. TRO was like a prior restraint) and the Ds could reasonably be found to be given notice of a hearing; it was important to have both parties present at the TRO hearing)
2. notice of the ruling does not need to be given to enforce the TRO – 
a. if the D violates the court order with no notice of the order, then it’s a violation of the TRO but the D won’t  be held in criminal contempt

3. justification for not giving notice

a. moving party believes the other party will commit the undesired act before the TRO can issue

v. duration of TRO

1. TRO without notice – lasts 10 days, or 20 days

2. TRO with notice – FRCP 65 doesn’t address this, but it will last for 10 days (Granny Goose)

f. If longer injunctive relief is needed, file to get a permanent injunction
i. ***main point: there must be a concern that the harm will occur in the future.  If the harm already occurred, and will not occur again, injunction is useless b/c the issue is moot.
ii. Requires proving:

1. irreparable injury

2. propensity

3. public policy (sometimes)

iii. what is irreparable injury?

1. GR: the idea is where damages are not as complete, practical, or efficacious then equitable relief is more appropriate
2. courts draw a line b/w what is special enough to get an injunction (Pardee – plaintiff got injunction to stop D from cutting down trees b/c the court held that the trees were unique property; impairment of the property interest is irreparable)
3. basically, damage to real property or impairment of one’s interest in real property will be unique enough to be irreparable injury (Van Wagner – the billboard space would be considered unique space; the harm to the non-breaching party of being deprived of the space due to breach of K would be irreparable injury)
4. Hasen: money judgment against bankrupt defendant is irreparable injury b/c money cannot be collected
iv. what is propensity?

1. this is proving that there is a real danger of the acts occurring that P is claiming will cause irreparable injury
2. plaintiff must provide evidence that D intends to commit the act (Humble Oil – P claimed that D would destroy documents that would prove P’s case; P moved to get injunction prohibiting D from shredding docs; court held that no propensity proven because D testified that he intended to produce all documents and offered to exchange documents at trial)
3. where the consequences of D’s actions are uncertain, there is insufficient showing of propensity (Nicholson – D was setting up a halfway house that the Ps thought would be a nuisance; P did not provide any evidence that the house would act as a nuisance, so injunction did not issue)
4. if the issue is moot, there is no propensity

a. court used a few factors to determine if the issue is moot: (WT Grant)

i. credibility of defendant (does he have intent to comply with the discontinuance?)
ii. effectiveness of discontinuance (steps D took to ensure he does not commit the violation again)
iii. character of past violations (what has D been doing in the past?  Did he repeat violations in the past?)
v. public
 policy concerns:

1. hardship on defendant

a. when the burden on the defendant is high, then the injunction will not issue – it was important here that the whole city was affected (Van Wagner – K for a billboard on a building; the owner of the building and the billboard space breached the K b/c he was demolishing the whole block to make way for a new development; the court held that stopping him from demolishing the whole block was too high of a burden on the D and the new construction was important to the entire city)
b. when the D engages in bad faith conduct, the court is more likely to find a lower burden on D and enforce the injunction (Ariola – this is the case about the houses and the gutters; P told D to stop the construction but D continued; to fix the gutters, D would have to rip out the gutter system; court held this was not too high of a burden b/c: 1) only talking about 2 defendants, not an entire city like in Van Wagner; 2) the Ds acted in bad faith b/c the Ps asked them to stop construction)
c. impairment of livelihood of D would be too high of a burden – forcing D not to work is a high burden (ABC v. Wolfe)
2. burden on court

a. if the court is required to supervise a situation, it may be too high of a burden (Argyll – safeway has a lease for a plaza; safeway starts to perform poorly, so the owner of safeway decides to close some of the stores; they breach the lease contract with the owner of the plaza; court held that forcing safeway to finish the lease would unduly burden the court b/c the court would have to continuously monitor the deal to ensure the parties were complying and there is no social benefit to forcing safeway to operate; also consider the burden on the D)
3. economic policy and bilateral monopoly
a. If there is a bilateral monopoly and only 2 parties, Calabresi will argue that the situation is most like the perfect world of Coase because transaction costs are low, and so the parties will negotiate the most efficient result – so the injunction should issue.  But the bilateral monopoly problem will argue that the parties may not bargain to the most efficient result and the injunction may force one party to do something that is not in that party’s best interest and not the most efficient result.  Since there are only 2 parties, the party forced to comply cannot go elsewhere for a better deal.

vi. scope of the injunction
1. the injunction’s scope must be tailored to the wrong (Goodyear Tire – claims of age discrimination in a branch office in one state; court held that a nationwide injunction is too broad and restricted it to the branch office)
2. the scope should be tailored to putting the P in the rightful position (Winston – P and D made tape recorders, but P claimed that its former employees helped D make D’s tape recorder and sought an injunction to enjoin selling D’s product; AC upheld the injunction b/c it was only for 2 years, at which point P would sell his own products and the technology would be on the open-market for reverse engineering)
3. freewheeling equitable discretion - some courts submit to the “roving commission to do good” which may grant P an additional benefit and does not focus on the rightful position – the focus is equitable discretion (Bailey – P was invested in Ds trust, but there were allegations of fraud and self-dealing within the trust; the rightful position is being in a risky investment without self-dealing and fraud; the court granted an injunction to liquidate the trust which allowed P to get his money out of a risky investment; this puts P in a better position than the rightful position)
a. courts have tended to pull back from “freewheeling equitable discretion” and returned to the rightful position standard
b. prophylactic injunctions – this injunction puts P in a better position than the rightful position in order to protect the rightful position (hypo: D continually enters Ps land to cut down Ps trees; the rightful position is for D not to enter Ps land; a prophylactic injunction will say: “D stays 100 feet away from P’s land”; this goes beyond the rightful position in order to preserve the rightful position)

vii. reparative injunctions
1. this will prevent the future bad effects of past harm

2. prove the same 3 elements
a. since the harm has already occurred, propensity is automatically satisfied

b. the injunction will remedy a future bad effect (Bell v. Southwell – unconstitutional election was held where blacks were discriminated against; court issued a reparative injunction to prevent the future bad effect of people thinking unconstitutional elections will be tolerated)

3. must ensure there is no double recovery in awarding damages and injunctive relief (Forster – P bought house from D; D promised to remove swim dock and represented that P could get a dock permit; in fact, D lied about the permit and did not remove the swim dock; court awarded compensatory damages for the fraud about the permit and for the swim dock, and also injunctive relief to remove the swim dock and transfer the permit; D argued this was double recovery; court said this was double recovery because the P had compensatory damages for the swim dock and permit, and an injunction to give them the permit and remove the swim dock; court held that P can choose which remedy they want, but they can keep the punitive damages b/c punitive damages are not double recovery)
a. but, may be able to recover an injunction + delay damages
i. hypo: property stolen on Jan 1.  injunction obtained.  Property is returned on march 1.  P may also be able to recover delay damages from Jan 1 – March 1, although it would be hard to value.  The damage would need to hold up to Hatahley.

viii. the eBay case provides a different 4-step rule to get a permanent injunction:
1. irreparable injury

2. damages are inadequate

3. balance of hardships

4. public interest is not disserved by granting the injunction
ix. concerns against issuing injunctions
1. an overly broad injunction on 1A rights could be an unconstitutional prior restraint (Willing – D protested outside of law firm with a sign and said the law firm stole her money; the statements were false; the injunction was to enjoin her from making false statements in the future; court held the injunction could not issue because it was a prior restraint since it banned speech before it occurred; other concerns were refusing the P a jury trial, and it’s discrimination against the poor, and multiplicity of suits problem would be the need to re-sue every time the D made the false statements; interesting point: probably could obtain money judgment against D b/c statements were false, but D was indigent so could not collect)

2. courts don’t want to impose mandatory/prohibitory injunctions with employment contracts because it’s like slavery (ABC v. Wolfe – D breached contract to be on ABC sports show, and signed contract with CBS; ABC sought injunction enjoining D from broadcasting for CBS; irreparable injury was satisfied because the injury is too speculative, but the injury is loss of competitive edge; court refused to issue the injunction because the public policy supported a free marketplace and exchange of ideas and issuing the injunction would burden the D’s livelihood; important: court would NOT issue injunction forcing D to broadcast for ABC because that is to much like slavery)
g. Structural Injunctions
i. These are a series of injunctions issued in public interest litigation in order to effect a change of an institution that has been violating the law or whose structure is unlawful

ii. Generally: initially the USSC allowed for equitable freewheeling discretion in issuing these injunctions; recently, USSC has been scaling down the rightful position standard

iii. School Desegregation

1. Swann v. Charlotte-Mecklenberg Bd. of Education – SC upheld remedy that went beyond rightful position b/c remedied both de jure and de facto discrimination (housing patterns) by pairing districts together instead of just drawing race neutral lines.  Remedy created web-shaped attendance zones to create racially integrated schools.  This caused more integration.

2. Milliken v. Bradley (Milliken I): remedy must be limited to scope injury – even though Detroit desegregation plan wouldn’t effectively remedy desegregation b/c neutral attendance zones would lead to white flight, the metropolitan remedy including suburban school districts which had not engaged in discrimination went beyond the scope of the injury – can’t have interdistrict remedy unless there is interdistrict de jure discrimination – should have been intradistrict remedy.

3. Missouri v. Jenkins: (overruled Swann); KC school district had been operating segregated school system in 1954.  In 1985, district court issued first order setting forth elimination of all vestiges of state sponsored segregation.  Court ordered education initiatives costing $220 mil.  In 1986, court turned schools into magnet schools to tried to bring back whites that fled to suburbs.  

a. Court says remedy must be aimed at rightful position and can’t use prophylactic measure to defend – Dist Ct’s order of 220 mil to make magnet schools to attract whites from suburbs went beyond rightful position b/c it was interdistrict remedy remedying de facto discrimination(attracting whites)

iv. Recently, the court has fallen back to the rightful position standard, and stopped using freewheeling equitable discretion; however, there is still room to argue for more discretion – argue that the injunction is a prophylactic injunction aimed at the rightful position standard
1. Hutto v. Finney: SC upheld dist ct’s prophylactic measure aimed at protecting the rightful position b/c even though holding a prisoner in solitary confinement for longer than 30 days was NOT unconst’l, SC banned confinement beyond 30 days b/c that along with food, diseases, etc. amounted to cruel and unusual punishment – so ban necessary as prophyl measure to keep (’s in rightful position

2. Lewis v. Casey: remedy of updating libraries in all Arizona prisons went beyond rightful position b/c can’t remedy state-wide system b/c only 2 prisoners have problems that can be addressed (1 was illiterate so better libraries won’t help)

3. VMI: SC held that parallel women’s school to remedy state sponsored all male military academy did not put (s in rightful position. Must either admit women, or create a separate school that isn’t inferior (depends on how you characterize the wrong, i.e. old boy’s club/existence of separate male school
h. Modifying Injunctions
i. GR: party seeking the modification must show that a change in facts or law warrant revision of the injunction

1. step 1: 5 situations when a modification is warranted?

a. Where changed factual conditions make compliance with the injunction substantially more onerous

b. Where decree proves unworkable for unforeseen obstacles

c. Where enforcement without modification would be detrimental to public interest

d. Where law has changed to make legal what the injunction was designed to prevent

e. Injunction originally made on mistake of law

2. step 2: what should the modification look like?

a. Can’t modify in way to violate the constitution

b. Defer to public authorities regarding modification

ii. Applying it to a case: Rufo – pre-trial inmates entered into a consent decree (contract backed by contempt power) that a new jail would be constructed for single occupancy cells b/c it was unconstitutional to double-bunk in small cells; then the law changed and the USSC found that it was not unconstitutional to double-bunk; then sheriff wanted to modify the consent decree; court held that moving party must establish a significant change in facts/law to warrant revision of the decree; no holding of whether the modification was warranted or not; remanded to lower court
i. Effect of injunctions on innocent third parties
i. GR: courts can impose direct burdens that are minor and ancillary on innocent 3rd parties – less than filing quarterly reports; indirect burdens on 3rd parties may be large, but something less than restructuring
ii. Indirect burdens

1. What are the cases?

a. Hills – Chicago Housing Authority was held to violate the 5A; AC required low income govn’t subsidized housing to be built outside the city in the suburbs; the suburbs complained because they would have to increase spending on hospitals, etc. and they claimed this indirectly burdens them; the court held that 3rd parties could be indirectly burdened but only less than restructuring; this was not restructuring because the CHA had authority to operate in the suburbs
b. Jenkins III – this case was about a plan to attract suburban students into the inner-city schools by creating magnet programs; USSC said this was an overly burdensome remedy on the suburban schools b/c it was an interdistrict remedy aimed at curing discrimination all over
2. The tension is that Jenkins III seems less burdensome than Hill, but Jenkins III is considered restructuring

iii. Direct Burdens

1. direct burdens must be minor and ancillary – less than filing quarterly reports (General Building Contractors – employer was found innocent of any wrongdoing and was considered an innocent 3rd party; court ordered the employer to pay for part of the remedy, provide on the job training, and file quarterly reports; court held that filing the quarterly reports was too much of a direct burden; the direct order needed to be minor and ancillary)
2. the takeaway: on the exam, direct burdens will be hard to impose on 3rd parties because few remedies are less burdensome than filing quarterly reports
D. DECLARATORY JUDGMENTS
a. A declaratory judgment is a court judgment that declares the rights of the individuals in the case
b. What can it do and not do?

i. Implicitly coercive – declaratory judgment look like injunctions b/c they are implicitly coercive b/c once a declaratory judgment is obtained, it will be easy to get an injunction
ii. The difference is that violating a declaratory judgment will not yield any consequences but once a declaratory judgment is obtained, an injunction is sure to follow and punishment for violating an injunction is contempt
iii. It is easier to get a declaratory judgment because there is no need to prove irreparable injury, like in an injunction

c. Requirements for declaratory judgment

i. Actual case or controversy

ii. Case is ripe

d. Actual
 case or controversy

i. Adverse parties seeking determination of their legal rights where the legal rights will be affected by the judgment, and the court usually decides cases like this (Chattanooga Railway – the dispute was over the unconstitutionality of the tax statute; this was not a hypothetical or academic dispute)

ii. The case or controversy must be real, not just academic or hypothetical (i.e. a disagreement over what the eBay case means is not an actual case or controversy for purposes of declaratory judgments)

1. hypo: if there is a law that says someone wants to march down the street, and you want to get a declaratory judgment that the law is unconstitutional, you must show that someone intends to march down the street in order to satisfy actual case or controversy

e. Ripeness

i. The D must be ready to proceed with his intended action in real life; it can’t just be that they want declaratory relief now for something that might happen in 50 years (Chattanooga Railway – the govnt was ready to collect the tax the next day, so the issue was ripe)
f. Useful effects of declaratory judgment

i. Declaratory judgments are useful for eliminating uncertainty, as in the validity of patents or insurance disputes (Cardinal – this is a patent dispute where the patent holder claims infringement, and the other party wants declaratory relief that the patent is invalid; the AC said that the issue of validity is moot if there’s a finding of no infringement b/c then there’s no case or controversy; USSC reverses and says that court must decide issue of validity because it will resolve uncertainty for future uses of the patent; this will also eliminate the use of scarecrow patents where alleged patent holder can waive the threat of litigation over another person and stop that person from using the patent, even if there is no valid patent)
g. Limits on obtaining declaratory relief
i. Concern of forum shopping – 

1. courts will decline hearing a case for declaratory relief of rights of the D, if D is trying to forum shop in a jdx that he thinks is more sympathetic to his cause; 

2. generally, P gets to choose the jdx
ii. Abstention doctrine – once a state prosecution has begun against you, federal courts will abstain from hearing a constitutional issue and granting declaratory relief (Younger v. Harris).  Must obtain declaratory relief from federal courts before state prosecution has begun.

iii. Claim Preclusion
1. Rule: if you sue for declaratory relief, and only declaratory relief, you can come back and sue later for other relief 

2. Rule: if you sue for declaratory relief and other relief, you cannot come back later and sue for more relief 

3. Takeaway: if you’re suing for more than declaratory relief, make sure you sue for everything you will ever want from the D on these specific transactions.

h. Other declaratory relief
i. Action to Quiet Title
1. this equitable remedy will determine who owns some personal property in order to clear any clouds of uncertainty over ownership (Newman Machine – newman owned stock, but gifted some to the corporation; corporation wants declaratory relief that they own the stock and to quiet title on it; court held that since there is no adequate remedy at law [the statute only applied to real property], the corp can maintain an action to quiet title in equity and granted the declaratory relief)
ii. Reformation
1. requirements:

a. mutual mistake of fact

b. mistake as to the writing

c. exception: if fraud is present, then don’t need mutual mistake of fact, but the mistake must still be in the writing

2. this equitable remedy will reform a contract back to its original form and enforce it against the parties (Hand – lawyer was fired from company and company gave him $38K to release all claims against the company; lawyer took the release home, fraudulently changed it to exclude certain claims from the release, then signed it and sued for those claims; court held that the fraudulent act rendered irrelevant the normal requirements for mutual mistake of fact and meeting of the minds and reformed the K and enforced it)
3. the alternative remedy is rescission – rescission would put the parties back in the position had they never entered the K – so Hand would give back the $38K but then he could sue for all claims
4. in REFORMATION, the mistake MUST be as to the writing – there must be a mistake in the writing itself
a. hypo
: K for sale of a horse.  But the horse is dead and the parties are mistaken about that.  Since this is not mistake as to the writing, but rather to the substance of the K, reformation is not an option here.  Rescission would be an appropriate remedy.

b. The reason for this is that if the court is going to rewrite the contract, they need a basis on which to re-write it.  In the horse hypo, there is no market for a dead horse, so the court wouldn’t know how to re-write the K.  But in Hand, the court knows that the agreement was $38K in exchange for release of all claims.  So they don’t need to speculate at all in re-writing the K.  
E. RESTITUTION
a. Restitution is a remedy and substantive body of law

b. General Rule:

i. Restitution available when:

1. D has gained
2. The gain is unjust
a. look for bad faith conduct – bypassing the market

b. exception: bilateral monopoly cuts against bad faith

ii. next issue: how to value the D’s gain
c. Big Points:

i. Focuses on D’s gain, not on P’s loss

ii. Always argue restitution b/c it can return a greater award than the rightful position of damages – in this case, restitution would be punitive
iii. The worse the conduct of the D, the more likely the court will measure enrichment in P’s favor 
iv. The unjust does not have to be intentional wrongdoing – it can just be an innocent mistake
d. Situations where restitution is available:

i. Benefit conferred by mistake

1. hypo: bank mistakenly gives customer a check for $150k, when the rightful amount was $1,500.  the bank can recover the difference under restitution

2. mistaken improvement on land - if the D knows about the enrichment, he must take steps to correct it

ii. benefits conferred on transferee with defective consent or authority

1.  hypo: uncle tries to gift niece $100, but actually he is signing over to her interest in land

iii. Benefit conferred intentionally in emergency by professionals

1. hypo: doctor gives CPR to someone at a restaurant – doctor can recover reasonable value of services under restitution

2. exception: officious intermeddler – can’t force your services on someone who doesn’t want them and then demand payment for it under restitution
3. value of services measured by reasonable value of those services, as determined by the market.  Professional can’t recover for any premiums they charge based on their professional experience (i.e. cardiac surgeon who renders aid can’t recover for $5k consulting fee; only recover the reasonable rate of his services)
iv. benefit conferred by contract

v. benefits obtained through tortious or wrongful conduct

1. trespass/conversion

2. misappropriation of assets

3. interference with IP rights

4. breach of fiduciary duty

e. When is restitution useful?

i. When there is no other cause of action

ii. When D’s gains exceed P’s losses – must argue restitution in this case or else risk malpractice action

iii. When D is insolvent and P wants a preference in bankruptcy by seeking restitution on the specific property that P formerly owned
f. There are several types of remedies
i. Quasi-contract

1. this is a legal claim in restitution; don’t think of a K claim – results in money judgment

2. this is NOT a contract claim, but the old English courts analogized to contract claims in order to adjudicate the case – there is no meeting of the minds, or contract elements 

3. when D’s conduct is really bad, court will measure damages in P’s favor (Olwell – P transferred 50% of his business to D but retained ownership over the egg-washing machine; P left the machine on D’s premises; due to lack of resources D decided to start using the egg-machine without P’s permission; P sued to recover profits under restitution; court measured damages as $$ saved per week due to the egg machine and valued savings at $1500; the other measure of restitution would be the reasonable rental value of ~$600; but since the D’s conduct was in bad faith, the court measured restitution at $1500)
a. so under the elements of restitution: the D was enriched b/c he saved money by using the machine; and the gain was unjust b/c he used the machine without P’s permission and tried to bypass the market by not negotiating with the plaintiff or trying to rent/buy a different egg machine

b. the question in the Olwell case was how to measure the gain – labor savings or rental value?  The court chose labor savings b/c it most favored the P’s – court favored the P’s b/c the D’s conduct was bad; instead of negotiating or getting another machine, he used the P’s machine against their wishes
c. there was no bilateral monopoly problem b/c there were multiple sellers of egg-washing machines – a bilateral monopoly problem will cut against finding bad faith conduct

4. restitution may not be available in a bilateral monopoly b/c there is less risk of unjust enrichment – if there is a bilateral monopoly, then it is necessary to negotiate only with those 2 people and there is no bypassing the mkt (Vincent – P tied his boat to D’s dock and destroyed the dock; P tied his boat to the dock b/c of the bad weather and his boat would have been destroyed otherwise; court said that restitution was not available b/c there was a bilateral monopoly b/c there was only 1 dock available and P did not have a chance to negotiate)
5. the effect of a bilateral monopoly – 
a. if no bilateral monopoly, there is a functioning market and D should try to use that market to obtain the goods/services; if he fails to do that, then D has bypassed the market and is using bad faith conduct – then measure gains in P’s favor
b. if there is a bilateral monopoly, then the D has no choice and cannot negotiate b/c there is no functioning market.  In this case, no restitution should be available b/c there is no bad faith conduct – the D’s conduct was out of necessity – measure the gain in D’s favor
ii. Accounting for Profits

1. this is an equitable
 remedy in which the courts will ask the D to calculate revenues less expenses and award the profit to the P in restitution

2. when is this remedy applied?  When there has been a mixing of a misappropriated good and a non-misappropriated good to produce some profit for D

3. how does it work? The P asks for restitution b/c the D misappropriated the P’s good.  The court will award all of the profit, unless the D affirmatively raises accounting.  Then the D must prove his variable and fixed costs to be deducted from the award, and P is awarded the balance.

4. what is the process:

a. identify the revenues from misappropriated or mixed item

b. deduct variable costs, but not infringer’s own labor (only the things he has bought and paid for)

c. deduct appropriate portion of fixed costs

d. apportion profits accordingly, but don’t deduct allocation of profits to defendant’s reputation
5. identify the revenues from the misappropriated/mixed item

a. the modern trend is that courts will apportion the profits attributable to the misappropriated item (Sheldon
 – P wrote a play and negotiated a deal with MGM for MGM to use the play; the deal fell through and MGM used the play anyway and made lots of money; Sheldon sued for restitution of the movie’s profits; based on expert evidence, the court apportioned the profits due to the misappropriated script and awarded those profits to Sheldon; the court held that the profits due to the actors and the specific theater used and the production company were not due to the misappropriated item and not recoverable; since MGM acted in bad faith, the court used the higher estimate of the percentage of profits due to the misappropriated item)

i. in Sheldon, the court found that the misappropriated item counted for 25% of the profits of the movie and 75% was attributable to the movie stars and other production issues that are unrelated to the misappropriated script
ii. what if the final product was a mix of misappropriated item and non-misappropriated item? This is a jury question.
1. Sheldon – the court allowed expert testimony to determine how much of the profit was due to the script and how much due to the actors, theater, producer, etc.

2. Gaste (“feelings” case) – court allowed expert witnesses to testify as to the profit due to the music and the profit due to the lyrics

b. court may not apportion where the defendant acted in bad faith conduct like bypassing the market (Meier Brewing – P scotch company sued D beer company for trademark infringement and restitution of the scotch company’s name; court awarded the P the D’s profits based on D’s gross revenues less expenses; the court gave a punitive remedy b/c the court did not apportion the profits that were due to the trademark infringement and the sales due to the fact that it was beer v. scotch)

i. why no apportionment?

1. D bypassed the market – D could have negotiated a license agreement

2. bad lawyering – the lawyer just forgot to ask for it

ii. if D acted only negligently, then it’s possible the court would apportion the profits due to misappropriated item and other facts
6. deduct variable costs
a. GR: deduct variable costs, but in some courts not the costs associated with the infringer’s own labor 
b. The defendant must raise deduction of costs himself, otherwise the court will award 100% of the revenues to the plaintiff.  Think of costs as a defense to lower the award

c.  Bought and paid for rule – courts only allow defendants to deduct variable costs with respect to things they have bought and paid for
d. Cannot deduct the cost of infringer’s labor because courts don’t want to reward defendant infringer for his time
7. deduct fixed costs

a. GR: deduct apportionment of fixed costs as measured by culpability of D

b. There is 2-step process to calculating fixed expenses:
i. Find the expense line items that have a substantial nexus to producing the misappropriated item

ii. Make a fair and acceptable allocation formula to allocate fixed costs
c. Hamil America – Hamil sued GFI for GFI infringing on Hamil’s copyright of pattern on fabric; court found infringement and awarded restitution; court held that in order for defendant to deduct fixed expenses, the defendant must prove sufficient nexus and a reasonable method of apportionment.
8. apportion profits accordingly
a. GR: apportion profits attributable to misappropriated item according to some reasonable method of apportionment; some courts that apportion profits will not give infringer credit for profits attributable to their reputation (bought and paid for rule)
b. So first step is to see if the infringer’s reputation enhanced the profit received.  If it did, then do not deduct the reputational value from the profit ( the profit goes to the P
c. Then award the rest to the plaintiff according to some reasonable method of apportionment

iii. Constructive Trust

1. this is an equitable remedy that makes the D a trustee who must hold the property for the benefit of the P
2. elements:

a. unjust enrichment

b. irreparable injury

c. causation

3. must prove irreparable injury and causation to get constructive trust, but court may overlook causation when national security is at issue (Snepp – ex-CIA agent wrote a book on the CIA but failed to submit it to the CIA for reviewing prior to publication, in violation of her contract; CIA sued in restitution for profits; court held there was irreparable injury b/c there was a risk that confidential information may have been leaked [even though no confidential information was actually leaked]; court overlooked the causation element b/c of the national security issue but usually causation b/w the profits gained (enrichment) and the breach of contract (unjust) is required)
4. when is constructive trust useful?
a. Defendant is bankrupt and plaintiff can trace his property to an identifiable asset (SEE TRACING)

b. Defendant has purchased an identifiable asset with plaintiff’s property and this asset has appreciated in value (vs. equitable lien)

c. Defendant has transferred plaintiff’s property to a third person, and plaintiff wants the property back from the third person (SEE RESTITUTION AND THIRD PARTIES)

g. Restitution in Contract
i. Rescission is restitutionary in function because it will return to the plaintiff any unjust gains of the defendant by eliminating the contract and returning parties to the position they were in before entering the contract (Mutual Benefit Life Insurance – company obtained a life insurance policy for their CEO, at a discounted non-smoker rate, who lied in the interview and said he was a non-smoker; then CEO died and the company wanted the money; the insurance company discovered that the CEO lied about his smoking habits; the court held that rescission was the only remedy available so the company got back its insurance premiums and the insurance company didn’t have to pay the policy)
1. requirements: need 1) valid contract; 2) mistake of law or mistake of fact.  But if there is fraud, then no need for mistake
2. court’s don’t want to place burden of mistake on the transferor.  Here, since the CEO lied, the court did not need to find mistake on the Insurance company’s part.

ii. Losing Contracts – when completing the contract will result in a loss to the performing party

1. Rules
a. Draft Restatement of Restitution – non-breaching party’s recovery in restitution is capped at the expectancy damages.  So if reliance > expectancy or if restitution > expectancy, only recover expectancy damages
i. Exception: if there is opportunistic breach of K, then can recover more than expectancy
b. Restatement of Contract – the non-breaching party can recover more than expectancy damages, whether it is through reliance or restitution damages
i. Exception: if the K is complete, the non-breaching party can only recover expectancy damages (room for argument: if the K has only a few hundred dollars left to complete it, then it may be considered complete)
2. if K is incomplete, restitution can recover the total cost to complete the project, which could be more than expectancy damages.  If K is complete, can only recover expectancy damages
a. hypo: K to build house for 75K.  When house is 80% complete, the cost is $100k.  the defendant says he won’t pay.  

i. An expectancy damages claim would not be good b/c it would be capped at the 75k contract price.

ii. Restitution is a better remedy for the contractor b/c he may recover more than expectancy damages.

1. How to measure the gain?

a. gain to D

b. how much it would cost to hire someone to do the same work
i. court will inquire here why the extra costs were incurred

ii. but this is contractor friendly b/c he may recover the whole 100k

b. hypo: K to build house for 75k.  but when house is 100% complete, cost is 100k.  now that K is complete, cannot recover 100k.  Can only recover expectancy damages at 75k.  Even if restitution is argued, the recovery will be capped at $75k.
i. exception – R3d Restitution – opportunistic breach – if a contract is completed and one party breaches in order to benefit themselves and they breach deliberately, then restitution of the defendant’s gains are available.  
ii. Opportunistic breach – must prove: 1) material breach; 2) the breach was opportunistic; 3) damages are inadequate

h. Restitution and Bankruptcy
i. ***This is one situation where a constructive trust is useful***

ii. If plaintiff can trace his assets, plaintiff can get preference in defendant’s bankruptcy.  If plaintiff cannot trace his assets, then he must wait in line with the other creditors

iii. There are different rules for getting constructive trust depending on whether you are in bankruptcy or not in bankruptcy
1. constructive trust when outside of bankruptcy
a. unjust enrichment (b/c it’s restitutionary)

b. identifiable asset

**benefits: if constructive trust is obtained, and assets are not delivered, plaintiff can use the court’s contempt power against the defendants

2. constructive trust inside bankruptcy
a. irreparable harm – money judgment is not as good.  Since the D is in bankruptcy, a money judgment would not be as good because his assets are tied up in bankruptcy and he won’t be able to pay
b. unjust enrichment

c. identifiable asset

d. fraud

i. North American Coin - people who bought precious metals in the last week sued.  If they don’t get priority in bankruptcy, they’ll share with everyone else.  Can (s identify assets?  Yes ( NAC created bank account and deposited receipts from all new transactions during that week.  However, there was no fraud b/c NAC believed they could survive when taking new orders; fraud would exist if the managers knew the company would collapse and continued to take orders they could not fill.  Thus, no constructive trust.
3. Hicks – plaintiffs were clients of defendant attorney, who swindled them out of some property by giving them worthless promissory notes, then defendant filed for bankruptcy and the property went into the bankruptcy estate; plaintiffs want a constructive trust over title to the house in order to pull it out of the bankruptcy estate; in this case the elements for constructive trust are satisfied so the court awarded it; the effect is that the defendant’s never owned the property in the first place so the property is pulled out of the bankruptcy estate and given to the Hicks:

a. irreparable harm - money judgment not as good b/c bankruptcy tied up the assets and the Hicks would be stuck behind the other creditors 

b. fraud – attorney fraudulently traded worthless promissory notes for the property

c. property is identifiable - the plaintiffs can point to it and say that’s the house

d. unjust enrichment – the defendant gained the property in an unjust fashion due to the fraud
iv. Identifiability can be proved through tracing
1. technical rules for tracing: 

a. for good investments (investment that makes money), use the plaintiff’s funds first

b. for bad investments (investment that loses money), use the defendant’s funds first

2. class problems on tracing
a. problem 6-1; p.682 – no co-mingling of funds
i. since Mom’s Microsoft stock is sold for $6k cash, and that cash is used to buy apple stock for $6k, but now the apple stock is worth $3k, Mom can only trace to the $3k of the apple stock because she can only trace to the apple stock itself.  The value of the stock is irrelevant because the property is the stock itself and Mom can trace to the property – so Mom can get a constructive trust over the $3k

ii. but what about the difference?  Mom can sue the son for damages to collect the $3250 ($3k in value that apple stock lost +  $250 in fees), but she will be a tort creditor and must wait in line with other creditors in bankruptcy

b. problem 6-2 – co-mingling of funds (losses < value of stock)
i. GR: in bankruptcy, innocent party’s recovery is capped at their losses due to embezzlement, fraud, etc.
1. the innocent party can get a constructive trust over: (amount in the bank account attributable to them + losses) <= losses

2. when value < losses, then P should determine what mix of assets will get most value (See Prob. 6-3)
ii. GR: outside of bankruptcy, innocent party gets what is attributable via tracing

iii. So in this problem, since we are in bankruptcy, Mom’s recovery is capped at her losses + what’s attributable in the checking account ( 8,250 (sale of maytag stock of $3k + sale of GM stock of $5k + $250) + 0 (checking account) = $8,250
iv. If this were not in bankruptcy, then Mom would get the value attributable to her from the rise in stock price which is ¾ of $12k = $9k
v. What if Slum won 20k instead of losing 2k?  

1. only good if not in bankruptcy – then Mom could collect the 20k; if in bankruptcy, Mom capped at $8250

2. in retrospect, Mom would want the winnings from the Poker game because it appreciated more than the stock.  She can get all of the winnings if she has some money in her account, so she will only buy some of the stock (half of it) and the rest of the money will go towards buying the poker game.  If the money is used towards the poker game, then Mom gets all of the $20k (remember E&E when the money from the account was used for the racetrack ticket and the lady got all of the winning from the race)
c. Problem 6-3 – co-mingling of funds (value of stock < losses) 
i. Mom lost $6k when Slum sold the stock for $6k via embezzlement – so Mom’s recovery is capped at $6k but the stock is worth $3k
ii. Mom has options that will change her recovery

1. Mom buys all of Apple stock

a. Mom gets constructive trust over $3k of stock + checking account ($0)
2. Mom buys none of the stock
a. Mom gets constructive trust over $2k b/c that’s what’s attributable to her in the account; does not get any stock value b/c she didn’t buy any
3. Mom buys part of the stock – 2/3 

a. Mom gets constructive trust over 2/3 of the value of apple stock and the amount attributable to her in the bank account – this is ok b/c the her recovery is capped at her losses, which is 6k

v. Restitution and 3rd Parties
1. ***This is one situation where a constructive trust is useful***

2. courts may relax the tracing requirement in family law situations in order to provide relief to the original family – it is unclear if other situations will be similarly treated (Rogers – wife and husband had life insurance policy for 15k for wife1; then in divorce action husband promised to maintain life insurance policy, but he let it lapse; then he remarried and got new life insurance policy for 15k for wife2; wife1 wants a constructive trust over the new life insurance policy; wife 1 cannot trace to the second life insurance policy b/c it was just a coincidence that it was for the same amount; court held that the husband’s promise gave wife1 an equitable interest in the policy so wife1 can get restitution from wife2 and constructive trust over the money)

a. important points:
i. GR: to get restitution from 3rd party, must show that the 3rd party was unjustly enriched, whether innocent or not; 3rd party was gratuitous donee; relax tracing requirement in family law cases

ii. wife2 was not a wrongdoer, the husband was the wrongdoer by failing to uphold his promise

iii. wife2 owed restitution for husband’s failings b/c wife2 was unjustly enriched, even though she was innocent (think of law prof getting 150k instead of 1500 – innocent but unjust)

iv. why unjust enrichment? – b/c wife2 was enriched based on husband’s breach of obligation to wife1 (benefit at someone else’s expense, even if it’s not your fault)
v. court held that wife2 was a “gratuitous donee” – this is important because if the new beneficiary gave some consideration, then they wouldn’t be a gratuitous donee and the court may find that wife1 couldn’t trace to the 3rd party

3. mistaken improver and equitable liens

a. equitable lien - a lien the court creates in order to impose a money judgment on defendant for plaintiff’s traceable deprived interest in real property
b. Robinson – this is a mistaken improver case – husband and wife build a house on husband’s parent’s land; parents knew about the building of the house on their land and consented to it; then husband and wife divorced and wife wanted interest in the house; court gave wife an equitable lien over 50% of the value of the house; the parents would be unjustly enriched if no lien was granted b/c they consented to the building of the house on their land (if they hadn’t known about it, then no interest for wife)

c. Notes on equitable liens:

i. Equitable lien is usually a fixed dollar figure 

ii. Only applicable to real property

iii. Useful to lock in a dollar figure when you believe the value of the property is depreciating

iv. As compared to constructive trust:

1. CT – usually a % amount, and useful when you think the value of the property, real or personal, is appreciating
2. ***This is one situation where a constructive trust is useful***

vi. Other restitutionary remedies

1. Subrogation
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a. Legal subrogation elements:

i. Subrogee paid defendant’s debt in full

ii. The debt is one for which a 3rd party (defendant) is primarily liable
iii. Subrogor would have valid claim against 3rd party defendant (subrogee steps in shoes of subrogor)
1. a valid defense for the defendant is SOL – if SOL runs against the legal plaintiff, then it has run against the equitable plaintiff; so then no subrogation claim could be upheld
iv. Subrogee is not a volunteer – he must be paying the subrogor’s claim for some reason that benefits the subrogee; not a stranger to the transaction
1. American National Bank v. Weyerhaeuser – this case is really about whether American was a volunteer; court held that the interest in preserving business relationships and keeping one’s clients happy is a sufficient interest to not be a volunteer 

2. contribution and indemnity

a. these remedies prevent the unjust enrichment of one party

b. so if D1 and D2 are both liable, and D1 pays all the damages, then D1 can go after D2 for contribution

c. similarly, if P recovers against D1, D1 can go after D2 for indemnity of the whole damage amount that D1 paid – look for indemnification clause
3. Replevin
a. Legal replevin – return the personal property + interest; useful when property has appreciated

b. This is a remedy to recover personal property only

c. The sheriff would seize the property and return it to the plaintiff

d. Applicable situation is where someone is holding your personal property and refuses to return it

e. If replevin is obtained, plaintiff can also obtain damages for value of lost time with the property

f. When not to use replevin? property is damaged/destroyed; property can’t be found or obtained

g. Why restitutionary?  b/c it would be unjust enrichment to allow the defendant to keep the property

h. NO CONTEMPT POWER ATTACHED
4. Ejectment
a. Useful when LL has a holdover tenant who won’t leave – sheriff will kick the person out and return the property to the LL

b. If ejectment is obtained, plaintiff can also obtain damages for value of lost time with the property
c. NO CONTEMPT POWER ATTACHED
d. Why restitutionary?  b/c it would be unjust enrichment to allow the defendant to stay in the property

F. ANCILLARY REMEDIES

a. These are remedies the courts use to effectuate other remedies

b. Examples:

i. Contempt

ii. Collecting money judgments

iii. Preserving assets before judgment

iv. Attorneys fees/litigation expenses

c. Contempt

i. The contempt power gives the court power to enforce an order to do or not do something

ii. There are 3 types of contempt

	Type of contempt
	Standard of proof
	Right to a jury trial?
	Purpose

	Criminal
	Beyond a reasonable doubt of willful past violation
	Yes, except for minor penalties
	Punitive

	Civil coercive
	Clear and convincing?

Bagwell
	? Bagwell

(sometimes)
	Coercive

	Civil compensatory
	Clear and convincing
	No.
	Compensatory


iii. Civil coercive contempt

1. this is the power of the court to impose fines payable to the state or jail time to coerce the D’s future compliance with the court’s order
2. the hallmark: “the wrongdoer has keys to his jailhouse door in his pocket”

3. the idea is to punish someone by putting them in jail for failing to do something, but allowing them to get out of jail when they agree to comply

4. when the coercive contempt has lost its force
a. the point is that if the jail time will not coerce the D into complying with the order, then the jail time is punishment

b. Anyanwu – African guy was married with kids, marital dispute occurred and family went to Africa; husband tried to find kids but could not, back in US Judge orders husband to produce kids for family dispute but he does not; husband put in jail until he produces children; after 2 years in jail, husband says that he is unable to produce kids b/c he does not know where they are; court held that husband must be released from jail b/c he is unable to produce children

5. sometimes, apply criminal protections in a civil contempt hearing

a. **the problem is that if civil coercive fines are issued they look coercive; but when they are imposed, they look criminal in retrospect.

i. BUT, you know they are intended to be civil coercive if it’s not the state bringing the contempt

b. But sometimes, the civil coercive contempt proceeding should get criminal protection
c. What procedures must be applied?  Proof beyond a reasonable doubt, and right to jury trial

d. Which cases get criminal protections?

i. High fines imposed

ii. If violation occurs outside of the court

iii. If D is in jail, but cannot pay but is kept in jail, then the jail time becomes punitive and criminal protections should apply 

iv. Bagwell – union was on strike and prevented non-union employees from working by throwing bottles, etc.; court ordered that union cease that activity but union continued to do it; court held contempt hearing, in which it did not grant jury trial but did require proof beyond a reasonable doubt, and imposed fines on the union of $64M ($12M owed to company as civil compensatory contempt; $52M owed to State in fines); court held that criminal procedure protections should have applied to the contempt hearing because the fines were high and the conduct occurred outside the court

6. no double jeopardy issue

a. so if you jail someone for 10 years under civil coercive contempt, once he’s released, you can file criminal contempt charges for willfully failing to comply at the earlier point

iv. criminal contempt

1. must
 prove beyond a reasonable doubt that the D has made willful past violations of a court order (contempt does not apply to declaratory judgments b/c there is no court order)
2. a govn’t prosecutor must bring this contempt b/c it’s a criminal action; but the plaintiff can suggest the govn’t bring criminal actions
3. Arguments against criminal contempt

a. No notice of order – if D didn’t have notice of the order, he couldn’t have willfully violated it

i. Lack of notice of hearing will not be an argument against criminal contempt but it will apply to exceptions to CBR
b. Collateral bar rule exceptions

4. Collateral Bar Rule – prevents collateral attacks against the validity of the injunction after D has violated it

a. Only applicable in criminal contempt proceedings.  The idea is to protect the integrity of the court.  This rule does not apply to attacking an ordinance or statute because in those situations the integrity and authority of the court are not implicated.

b. Walker v. City of Burmingham: marchers wanted to do a march but the city ordinance required them to get a permit; marchers could not get a permit, so city asked for an injunction; court basically turned the ordinance into an injunction, but marchers did the march anyway; the collateral bar rule prohibits the marchers from collaterally attacking the validity of the injunction; the issue is whether any exception to the collateral bar rule applies; court held that no exception applied

c. Exceptions to the collateral bar rule:

i. If marchers directly appealed the injunction when it was issued, but there was some delay or frustration in the courts, then CBR would not apply
1. this is not a clear rule; court merely opened the possibility to this exception

ii. the injunction is transparently invalid – this means that the injunction is so invalid, that it’s obvious it doesn’t need to be followed, then CBR does not apply

iii. court does not have jdx to issue to the injunction in the first place, CBR will not apply

1. if no notice of the hearing was given, D may argue that court did not have PJ over them b/c PJ requires notice

2. if court is issuing injunction, and D argues that the court has no jdx, and court issues TRO for 2 days at which point it will determine if it has jdx, and violation of the TRO occurs during the 2 days, the CBR will apply b/c for those 2 days, the court is deemed to have jdx, even though it hasn’t decided if it actually does have jdx (Shipp case)

iv. CBR does not apply to statutes 
1. this is because the authority and integrity of the court is not implicated in statutes; 

2. if D thinks a statute is invalid, he has 2 options:

a. seek declaratory judgment that it’s unconstitutional

b. violate, and then argue it’s unconstitutional

v. civil compensatory contempt

1. this is the court’ power to award damages to the plaintiff for the D’s failure to comply with the court’s order

2. CA does not allow civil compensatory contempt

3. they are tacked on as delay damages – delay damages cover the period of the D’s wrongful conduct and the time P brings suit; there is right to jury trial for delay damages suit

vi. Anticipatory contempt

1. the defendant is held in contempt for an order that has not yet been issued

2. Griffin – this was a racial discrimination school case where the court ordered a school to stop giving tuition grants to white parents to send their kids to private school for future years, but did not order the school to stop giving grants for the upcoming year; P’s appeal to stop the grant payments for the upcoming year; judge calls the school and asks them to not make payments but did not issue order; school refused and made grant payments; court held the school in contempt because it was clear that the judge was going to issue an injunction so the school should have anticipated it
a. The big points: the judge called the school and asked them not to issue the grants.  Unclear what would happen if the judge hadn’t called – could they still anticipate the order?

vii. Contempt and Third Parties
1. GR: Direct orders to 3rd parties can only be minor and ancillary; indirect orders to 3rd parties can be large but less than restructuring

2. FRCP 65 – says that the order is limited to parties to the action and their agents

a. However, courts have inherent jdx

i. In rem – when court has control over a controversy that affects a place, the court can issue an order that affects the whole world with respect to that place

ii. Effectuate their orders – courts have inherent powers to issue orders that affect everybody as necessary to effectuate their orders

3. Hall – court ordered that no one was to enter school grounds; D was given notice of the order, but the D entered school grounds and said he did it just to violate the order; D defended on grounds that he was not a party to the litigation so the order didn’t apply to him but the court held that the order did apply to him under the inherent powers of the court 

d. Collecting Money Judgments
i. Execution

1. have the sheriff seize some property and sell it in order to satisfy the judgment

2. requirements:

a. property must be able to be found – sheriff will not investigate to find the property

b. asset must not be exempt from execution – i.e. homestead exemption

c. must be able to send sheriff to seize the assets

d. NO CONTEMPT POWER 

3. Credit Bureau v. Moninger – credit bureau obtained judgment against Moninger and obtained writ of execution; Moninger entered into loan agreement with Bank, but Bank did not secure the loan; then Bureau executed on the writ and the sheriff put his hand on the truck but did not seize it; then Bank entered into a security agreement with Moninger over his truck; Bureau tried to execute on the truck but Bank claimed they had a security interest over it; court held in favor of Bureau that the sheriff did seize the property and Bank’s credit agreement was after the execution
4. Hasen thinks the court’s rule in Moninger regarding how the sheriff executed on the property is bad – what if Moninger sold the truck after the sheriff “put his hand on the truck”?  Then the Bureau would have to go after the purchaser

ii. Garnishment

1. this is an independent action against a third party allowing the judgment creditor to collect the judgment from the judgment debtor’s bank account or employer (third party)
2. courts will hold innocent garnishee (i.e. bank) liable for their innocent mistakes (Dixie National Bank – P obtained judgment against D, and then sent notice to D’s bank Dixie requesting D’s accounts; Dixie sent info about one account with $32k in it, but innocently forgot about another account with $13k; Dixie amended answer to include the extra account, but in the meantime D withdrew the money from the second account; court made Dixie cover the withdrawn balance to P)

3. states may limit the amount that can be garnished by statute; the amount that is not exempt is subject to garnishment
iii. coercive collection of money judgments
1. courts are willing to use the contempt power to coerce the collection of money in family law matters only (In re Logston – husband and wife divorced and husband defaulted on alimony payments to ex-wife; court held him in contempt and put him in jail until he paid the alimony payments; this was civil coercive contempt; husband argued:

a. the social security money was exempt – court responded that once the money leaves the protected source and enters your bank account, it is no longer exempt

b. he could not pay the money so the jail time was punitive – court made value judgment about his lifestyle; husband went to CA and spent a lot of money

c. garnishment and execution would not work b/c the husband had no steady job or assets

e. Preserving Assets before Judgment

i. These remedies are available to a plaintiff in order to preserve Defendant’s assets before judgment if the plaintiff thinks the D will transfer assets away

ii. Available remedies:

1. freeze orders

2. attachment

3. receivership

iii. Freeze Orders

1. like a preliminary injunction that will bar the D from transferring specific assets pending a judgment

2. trigger: when it looks like D is trying to hide his assets

3. requirements:

a. likelihood of success on the merits

b. irreparable injury – the injury would be the D transfers assets where the P can’t find them

c. balance likelihood of success on merits

d. notice of hearing

e. may require a bond

iv. Attachment
1. more extreme than freeze order; attachment puts the D’s property in the P’s hands before judgment

2. trigger: when it looks like D is trying to hide his assets

3. prove: D has intent and has tried to hide assets in order to defraud or frustrate an order or judgment 

4. City of NY v. Citisource – D’s were sued under the RICO laws and the city is worried that the D’s are trying to withdraw the money from their account; there was an inquiry from one D to the bank regarding transferring his funds and another D wrote a treasury bill to himself in an attempt to withdraw the money; the city proved intent and propensity so the court ordered an attachment that transferred the money from D to the city before judgment was entered; 
a. Court justified the remedy by the suspicious timing of the withdrawals

b. Courts usually order an attachment bond (which is always greater than $0) in case judgment is entered for the Ds

c. D’s can recover more than the attachment bond as consequential damages

5. useful remedy when the D is solvent; useless if insolvent

v. Receivership

1. this remedy is also entered before judgment is entered

2. for private businesses, it allows a neutral 3rd party to run a business while litigation is on-going

3. requirements:

a. P must prove he has a clear right to the property, lien on it, or the property is a special fund

b. D obtained possession of the property by fraud or that the income arising from the property is in danger of loss from neglect, waste, misconduct, or insolvency

4. W.E. Erickson – Erickson was hired to build a slide for an amusement park and Kenilworth gave Erickson deed to a land to hold while they paid off the debt; Erickson discovered that the land was not owned by Kenilworth and Kenilworth was not making payments; there was restructuring at Kenilworth so Erickson was worried he would not be paid b/c Kenilworth’s business as an amusement park was seasonal; Erickson filed to get a receiver to run Kenilworth’s business to ensure that revenues would continue through the lawsuit; court held that Erickson did not prove that the revenue was in danger of being lost; plaintiff must show some real evidence of waste or misconduct or incompetence

a. Sufficient proof will usually be evidence of stealing, hiding, or mismanagement 
f. Attorney Fees

i. American Rule: each party bears their own attorney fees which means the P is undercompensated because he has to pay his own fees from any judgment he wins

ii. Exceptions to American Rule

1. change fees by contract – parties can contract for different fee structure

2. statutory one-way fee shifting – if P wins, D pays P’s attorney fees; if P loses, each party pays their own fees
3. class actions

iii. issues:

1. are the P’s prevailing parties?

2. how to calculate reasonable attorney fees?

3. is the fee unreasonable in this case?

iv. How to compute attorney fees
1. Rivera – P was having a party which cops broke up; without a warrant; P (party goers) sued the cops and the city; court awarded 33k in damages, and $245k in attorney fees; 

a. Are the P’s the prevailing parties?

i. Rule: if Ps achieve their primary litigation objectives, they are prevailing party even if they don’t win all claims

b. How to calculate reasonable attorney fee?

i. Lodestar approach: reasonable hourly rate x reasonable # of hours; 

ii. Contingency fee – plaintiff’s attorney makes % of plaintiff’s recovery

iii. Reverse auction – P’s attorneys compete for the case and it goes to the lowest bidder
iv. Johnson factors – these are the 8-10 factors from ethical lawyering (complexity of case; market rates; experience of attorney, etc.)

c. Was the fee reasonable in this case?

i. In Rivera, court wanted to encourage civil rights litigation so court held that it was reasonable

v. Class Actions
1. Synthroid – D suppressed information that would have shown a generic drug was just as effective as their drug

a. Trial court imposed 10% attorney fee cap on recovery over $75M, but under $75M no cap

b. Appellate court held this created a perverse incentive for the attorney

c. Future rule: look at market rates; also, the fee should be determined at the front end instead of the back end

G. FLUID CLASS REMEDIES

a. This remedy grants relief to an entire class of people

b. This remedy is not allowed as a judgment unless there is some matching

c. Eisen – company engaged in odd-lot trading (trading in shares that were not in multiples of 100); since very few companies did this, they had a monopoly over the business; company started cheating people out of money and were sued by shareholders in class action; 6M plaintiffs each with small losses; the TC imposed a remedy of a commission discount on all future odd-lot trades

i. AC reversed this fluid-class because there was no matching – people who make odd-lot trades in the future would receive benefit of the reduced commission but those people were not hurt the defendant’s wrongful conduct

d. When are fluid class remedies permissible?

i. They are generally used in settlement discussions

1. what to do with extra money after Ps and attorneys are paid?

a. cy pres – if extra money exists, the money should go to organizations that share in the spirit of the litigation
i. criticism: the money should go to the government b/c otherwise preferred organizations of the judge are rewarded

e. notice problem

i. notice must be given to plaintiffs and this can be prohibitively expensive

ii. if D can’t be sued, then D’s get license to do this conduct if they take a little bit of money from a lot of people

iii. USSC helped alleviate burden of notice by allowing Ps to reduce the size of the P class who needed notice – i.e. just Ps in NY

1. but, it’s still really expensive to give notice; what if damage is $3, and notice is $5?

H. REMEDIAL DEFENSES

a. Unclean hands

i. Only applicable in equity suits. Equitable defense the defendant argues to bar equitable relief for the plaintiff

ii. D must prove:

1. P engaged in some unethical or bad faith conduct

2. P’s wrongdoing is related to the case at issue
iii. How bad does conduct have to be?

1. does not need to be illegal; unethical conduct could suffice

b. In pari delicto

i. Applicable in suits at law and equity.  

ii. D must prove:

1. P engaged in conduct at least as bad as D’s conduct
2. the P’s bad conduct must arise from same bad act as D
3. preclusion of suit would be in the public interest
iii. Differences from unclean hands:

1. in pari delicto applies to law and equity

2. in pari delicto requires proving that the P acted just as bad as D – harder to prove
iv. if P is seeking damages, and the P’s conduct is not as bad as D’s conduct, then neither doctrine applies for D
v. Pinter – D sold unregistered securities to P, who now seeks rescission of the transaction; D raises in pari delicto as a defense claiming P knew the securities were unregistered; court remanded the case to determine if P’s conduct was as bad as D’s; D must show that P participated in the scheme

1. since rescission is equitable, D could have raised unclean hands as well

c.  Unconscionability

i. Affirmative defense that argues the K provisions are unconscionable and should not be upheld
ii. 2 types of unconscionability:

1. substantive – are terms substantively fair?

2. procedural – hidden terms; small font; adhesion K
iii. what can courts do with an unconscionable contract

1. Armendariz – employer fire employees for what employee calls sexual orientation discrimination; the employment K calls for arbitration but the employees want a jury; employees must argue the K is unconscionable; court agreed the K was unconscionable because (a) it was an adhesion K; (b) some provisions limited the recovery to a particular time frame; (c ) the K allowed the employer to get a jury if the employer was suing the employee, but not vice versa; so now what can the court do….?

a. Severance – cut out the unconscionable provision

b. Strike down the entire contract

c. Re-write the contract

2. striking down the entire K creates more incentive to write conscionable contract in the first place: if only the offending provision is cut out, then the employer may just write the unconscionable contract anyway b/c it may not be a big loss if only one provision is cut out

iv. Campbell soup – Campbell made a contract to buy carrots from a farmer and included provisions that would not allow the farmer to sell his supply of carrots to anyone other than Campbell even if Campbell decided not to buy his carrots; court held this was an unconscionable K b/c it was too one-sided

d. Estoppel

i. Claim available in both equitable and legal suits that focuses on D’s good faith reliance of P’s statement that resulted in D’s harm
ii. Trigger: lots of reliance

iii. Requirements

1. act or statement by P inconsistent with a right P later asserted
a. some courts may find that an omission to act would be an act.  But some court would not find that.

2. reliance on the act or statement by D

3. D is harmed

iv. Person claiming estoppel must rely and lose something they already had a right to have
1. Bimco – burglars damaged property in Bimco’s store; in order to make claim, insurance company required proof of damage within 30 days but Bimco didn’t provide proof; then insurance agent agreed to pay for some damage but not others; insurance company refused to pay for anything; estoppel DOES NOT apply here b/c after the 30 day limit passed, Bimco no longer had a right to receive any payment so they could not have detrimentally relied on the insurance agent’s statement; the agent needed to make the statement before the 30 days passed

a. Statement was that insurance company would pay; inconsistent right later asserted is that insurance company said they wouldn’t pay

v. Estoppel can be used in two ways:

1. by a defendant as an affirmative defense to defeat P’s claim

a. Geddes – defendant developer was building golf course near other property; plaintiff owned property near the course; P originally agreed to the development if a fence was erected and changes made to the course; P had to pick up a lot of golf balls that were hit into his property and now sues for damages and injunction of the course; D raised estoppel as a defense

i. Elements: 

1. Inconsistent statement by P – yes because P stated he was ok with building the course if certain changes were made and those changes were made but then P asserted a contrary right
2. detrimental reliance by D – D relied on the statement b/c he made changes to the course as discussed and it cost him money

3. Damage to D – any remedy that would require D to change the golf course would damage D
ii. Court rejected P’s claim that they did not know so many golf balls would come into their property b/c it’s general knowledge that golfers suck and will hit balls over

iii. Result: D has an affirmative defense that estops P from raising his claim

2. by a plaintiff to defeat an affirmative defense the D raised

a. SOL situation - hypo: A and B are in car accident; A wants to sue B, but B tells A that there is 10 year SOL; but the SOL is only 5 years; A waits 7 years to sue, and then B raises SOL as a defense; A can raise Estoppel to defeat the SOL defense and the suit can go forward
vi. fraud and estoppel

1. fraud is not required to prove estoppel – P can make an innocent statement that is inconsistent with their later act and estoppel can be satisfied

2. if fraud is found, courts will likely grant estoppel
vii. special rule: can’t raise estoppel against the government

1. if IRS tells you that you do not owe any taxes, and then later takes taxes from you, you cannot argue estoppel in order to bar the government’s claim
e. Waiver

i. The intentional relinquishment of a known right

ii. Triggers: look for more intentional conduct

iii. Can be used in legal and equitable cases; no reliance required
iv. Bimco – burglars damaged property in Bimco’s store; in order to make claim, insurance company required proof of damage within 30 days but Bimco didn’t provide proof; then insurance agent agreed to pay for some damage but not others; insurance company refused to pay for anything; waiver applied b/c the insurance agent waived their right not to pay for any damage
1. potential arguments against waiver:
a. not intentional – argue that insurance agent didn’t know he was waiving a right so it was not intentional
b. not relinquishing  - the agent agreed to pay for the door to satisfy his customer for business reasons, and did not actually relinquish the right not to pay for anything
f. Laches
i. Only in equity cases
ii. Elements:

1. unreasonable delay by the plaintiff before filing suit – no set timeframe is “unreasonable”
2. prejudice to D if suit is allowed – would D be harmed?
iii. NAACP – the LDF was using the NAACP’s name on its advertising after the two orgs split up; NAACP did not bring suit for 13 years and then filed for trademark infringement; court held the suit was barred by laches
1. unreasonable delay?
a. The delay was unreasonable because there was no reason the NAACP could not bring suit earlier; even if settlement negotiations were occurring, the negotiations would not have taken 13 years
b. If negotiations had been on-going, then the delay may be reasonable
2. prejudice to D
a. LDF was prejudiced b/c if they were forced to change their name now they would lose a lot of good will and branding they had built up over the 12 years
iv. Laches can bar a case even before the SOL starts
1. hypo: in election 2008, republicans knew that absentee ballots in Virginia were not timely mailed out 45 days prior to election, but they waited until the day before election to file suit; this suit should be barred by laches b/c the republicans knew for maybe 44 days that the ballots were not timely mailed – this could be unreasonable delay
2. if P is aware of a potential problem before it occurs, and does not bring an action to prevent the harm for a long time, the court may bar the suit for laches
v. Ds options if P is delaying suit
1. file to get declaratory judgment that the suit is barred
2. just wait to be sued – this could be better b/c the longer P delays filing, the longer D has to build up the prejudice element for laches
vi. ignorance of law does not bar a laches defense – need to know you’re injured but do not need to know that you have the right to sue
vii. laches v. SOL
	Statute of Limitations
	Laches

	Set timelimit
	No set timelimit

	Law and equity
	Equity only

	N/A in breach of trust – b/c only remedy for breach of trust is equitable; only time limit is laches
	Applicable to breach of trust

	
	May bar a case before SOL starts running


g. Statute of Limitations
i. Statutory time frame during which a claim must be filed; one day late is too late
ii. SOL functions to defeat meritorious claims: policy is certainty for defendants, protect integrity of judicial process from faded memories and inaccurate facts
iii. Issues:
1. accrual
2. continuing violations

3. tolling
iv. Accrual – this is when the SOL clock starts running
1. Three different approaches
a. Date of wrongful act

b. Date of injury

i. CA – “appreciable injury” – the SOL runs when the injury could be measure

ii. Weird result: if someone is infected with HIV, and it is detectable in bloodstream in Jan, but no symptoms felt until Aug, the SOL starts in Jan

c. Date of actual or constructive discovery of injury
v. Continuing Violations
1. P can recover for continuing violations that occur during the limitation period
2. how to figure out the limitation period?  Start at the year the suit was filed, then count back by the number of years in the statute of limitations.  The period b/w those two years is the limitations period
3. the P can recover for new violations that occur during this period

a. Klehr – P bought a silo from D in 1978, but D misrepresented the qualities of the silo; the silo leaked and caused damage to P’s crops; P did not inspect the silo from 1978 until 1993; P filed suit in 1993, and with 4 year SOL, P wanted damages from 1989-1993; court held there were no new violations between those years, but the harm from 1978 continued on; there must be a new violation between the limitation period
b. Ledbetter – cannot grandfather in past discrimination to create new violation; gender discrimination resulted in lower rate for women up to 1984; then discrimination stopped in 1985 when both genders got 5% raise; woman sues in 1994 b/c her income is lower than a man’s because of the 1984 discrimination; court held that even though the pay was lower in the future, the past discrimination will not constitute a new violation each time she gets a paycheck
c. Better example is NAACP LDF case – each time the LDF used the NAACP logo, it was a new violation of trademark infringement; if this case had not been barred by laches, then NAACP could use continuing violations to file suit for each violation that occurred in the SOL period
vi. Tolling
1. tolling will suspend the SOL until a certain time, and then the SOL will continue to run from the point it stopped

2. two doctrines on tolling

a. discovery doctrine

b. fraudulent concealment

3. discovery rule – the SOL is tolled until the P discovered or should have discovered that they were injured AND that the D caused the injury

a. O’Brien – plaintiff’s mother took DES during pregnancy, which was later learned caused cancer in the children; plaintiff developed cancer but did not know the cause; she read Newsweek article which discussed DES and cancer and spoke to doctor who suggested DES may have caused her cancer but P did not inquire further; court held that it was at that point P should have known about the cause of her injury and the SOL accrued from that point on; P brought suit a few years after that point so her suit was barred on SOL grounds
i. P had inquiry notice in this case and should have pushed the doctor 
ii. P does not need to know she has the right to sue – SOL runs from the date she should know of her injury and the cause of the injury

b. When minors are injured

i. SOL is tolled until minor reaches age of majority, and then further tolled until person should know of injury and its cause
4. fraudulent concealment – the SOL is tolled for the period that D fraudulently concealed the injury and cause from the P
a. requirements – P must prove:

i. D affirmatively fraudulently concealed the injury and cause 
1. fiduciaries have duty to speak, so omission will constitute concealment
ii. P could not have known about the injury and cause

iii. D has superior knowledge about what caused the injury
b. Knaysi – P bought Dalcon Shield and had spontaneous abortion; D handed out brochures advertising that the Shield was safe when they knew it was not; court held that D fraudulently concealed the cause of the spontaneous abortion so the SOL was tolled until the P should have discovered the cause

i. Note: general advertisement was sufficient fraudulent concealment

h. Suits against the government
i. Qualified immunity
1. this immunity applies for suits for retrospective relief against government officers in their personal capacity
2. rule: government officials are not subject to civil damages in their personal capacity where their conduct does not violate clearly established constitutional rights or statutes of which they knew or reasonably should have known (Harlow)
3. how to do the analysis:

a. first: did the official violate the constitution by committing the act

b. second: if it is a violation, did it violate a clearly established constitutional or statutory law

i. how to determine if it’s clearly established?

1. controlling authority in the jdx

2. consensus of cases of persuasive authority

3. the unconstitutionality is so obvious, no litigation was needed

ii. Absolute Immunity
1. Who gets absolute immunity?
a. President for his official acts only

b. Judges for official acts only

c. Prosecutors for prosecutorial functions, but not investigative functions

i. Qualified immunity for investigative functions – i.e. discovery

d. Members of congress – speech or debate

i. Only applies to actions made in legislative functions – actions on senate floor, but not for republication of statements in magazine
ii. Cannot argue that taking a bribe to enforce a law is a legislative function

2. Judges

a. If the judge has jdx over the issue, then he is acting in his judicial capacity 

b. Stump – lady brought petition to get her daughter sterilized b/c daughter was sleeping around; judge did not appoint guardian, did not notify the daughter, did not assign docket number, and approves the petition; daughter was lied to by the doctor and then she found out she was sterile when she was married; daughter sues judge; issue is whether judge has absolute immunity; court held that judge had absolute immunity b/c he had SMJ over the case
i. Arguments for finding judge personally liable

1. judge did not have PJ- not an official act b/c judge did not have PJ over the daughter b/c no notice was given to the daughter

2. J. Powell (dissent) – the order is not appealable; since the judge did not assign a docket number, there was no way to appeal the case; since no appeal remedy, the judge should be personally liable

�Q: is this a tort case or a contract case?  Is it that the 5K is too low, or that expectancy damages must also be awarded.





So the attorney could sue for malpractice, and get reliance damages, or sue for breach of K and get expectancy?


�What is the point of the bilateral monopoly?  How does that factor into a court’s decision?





This issue is about whether to choose damages or injunctions.


With bilateral monopoly, there are few parties, an injunction does not necessarily lead to the most efficient result if it’s not efficient to force one party to do something.  





Calabresi will argue that when parties are few, transactions costs are low, so an injunction would be better.





Bilateral monopoly argues against calabresi to say that it may still not be efficient and damages may be a better result.


�Is this the right definition?


�Does this only apply to federal courts since the Wallace case was talking about article III?


�What if the contract said: “I agree to sell you my live horse”





But if the horse is dead, then it would be mistake as to writing and reformation would be possible.


�Do I have to prove irreparable injury here?





In order to ge this, need 


�Why didn’t the court find bad faith conduct on the part of MGM and award all the damages?





2 reasons:


	1. bad lawyering in Maier – lawyers did not ask for apportionment





2. discretion of the judge differs b/w the two cases


�What kind of contempt do you use if it’s a past violation but not a wilfull violation?
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